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A=9—2(§(x(3—x)))—37"
A=9—x(3—x)—32—"

g 8116 63
d=j 16 16
*=pA=i
12s
72m
36s
96m

1+x4+x?—x—x>—-x3=1-2x3

(1 + % + (%)2) (1 — %) =1- (;)3 =1- %,as required.

1—x°
6049
6561
1.23
123.23
1000x — 10x = 123.23 = 1.23 = 122 50 990x = 122 and x = %

100y = 17ab.ab = 1700 + 10a + b
y=17.ab
99y = 17ab — 17 = 1700+ 10a + b — 17 = 1683 + 10a + b, hence result

1000z — 10z = 717¢d — 717 = 71700 — 717 + 10c + d
_70983+10c+d

990
x+y

xy
(x +y)? —2xy = x2 + 2xy + y? — 2xy = x? + y?
1,1 x2+y?  (x+y)?-2xy _ 64-10 _ 54

x2 ' yz x2yz x2 y2 25 25
1 1 x3+y3  (x4y)3-3x%y-3xy?  (x+y)3-3xy(x+y) _ (83-3x5x8) _ 392

x3  y3 x3y3 x3y3 x3y3 125 125
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c) 15:38
d) 1 hour 26 minutes and 33 seconds



